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SOCIOLOGY — GENERAL
Paper : GE/CC-3
(Sociological Theories)

Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Group - A

Answer any fwe questions.

1. Elaborate the relationship between ‘Enlightenment’ and ‘Sociology’.
2. Analyse the Marxian concept of ‘Class struggle’.
3. Describe Max Weber’s concept of ‘Ideal type’. What is the purpose of constructing Ideal type?
4. ‘Social facts as objective reality’. — Explain.
Group - B
5. Answer any five questions :

(a)
(b)
(c)
(d)
(e)
®
(g)

How did the Industrial revolution change society?

Wha;[ are the key principles of dialectical materialism?

Write a short note on ‘Class-consciousness’.

Discuss the functions of Durkheim’s ‘Repressive Law’.
Discuss the difference between social action and social fact.
Write down the importance of Traditional authority.

Discuss the importance of French Revolution.

Group - C

6. Answer any five questions :

(a)
(®)
(©
(d)
(e)
Sy
(8

Define Authority.

Mention any two books written by Durkheim.
What is ‘Collective Conscience’?

Mention two features of ‘Social Action’.
What is meant by ‘Social Cohesion’?

What is *Class for itself” and ‘Class in itself’?
What is power?
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